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1. IlepeyeHbp KoOMIeTeHUMI € YKa3aHMeM 3TanoB HUX (POPMHPOBAHHUSA
npoiecce 0CBOEeHHUs 00Pa30BaTeJIbLHOM MPOTrPaMMbl

KOI[ M HAUMMEHOBAHHU € KOMIICTCHIIMHN

Jranbl popMuUpOBaAHUS

VYK-4 - CniocobeH OCyIIeCTBIIATh AEIOBYI0 KOMMyHHMKaluoo B | 1. pabota Ha  y4eOHBIX
YCTHOW W THUCBMEHHON (opMax Ha TrOCyJapCTBEHHOM SI3bIKE 3aHSTHUSIX;

Poccuiickoit denepannu u WHOCTPAaHHOM(BIX) | 2. CaMOCTOSITEIIbHAS
S3bIKE(aX)CIIOCOOCH ~ MCIOJIB30BaTh IMOHATHHHBIA — ammapar pabora

dunocopuu, TEOPETUUECKOW W MPUKIATHOW JIMHTBUCTUKH,

NIePEBOIOBEICHIS, JIMHTBOJIU JAKTH KA " TEOPHH

MEXKYIBTYPHOM KOMMYHUKAIINU TUIS pelieHus

npodeCcCHOHANIBHEIX 3a1a4;

CIIK-1 - CnocobGeH wuCHONB30BaTh MOHATHWHBIM ammapar | 1. pabora Ha  y4eOHBIX
JTUHTBUCTUKH, JTHHTBOAUJAKTHKA W TEOPUU MEXKKYIBTYpPHOI 3aHSTHUSIX;
KOMMYHUKAIIMK ISl PEeHIeHUs] TMPOQPECCHOHATBHBIX 337a4 Ha | 2. CaMOCTOSATEIIbHAs
OCHOBE COBPEMEHHBIX METOJOB HAayYyHOTO HCCJICIOBAHHS | pabora

WHGOPMAIIMOHHOHN 1 OMOIHOrpaduIecKOr KYIbTYPBI.

2. Onucanue moka3artejieil U KpUTepHeB OLEHUBAHUS KOMIIETEHIUH Ha
Pa3JIMYHbIX 3TanaX UX GOPMHUPOBAHUS, ONIUCAHUE LKA OLICHUBAHUS

OuennB | YpoBeHb Jran Onucanne nokazareJsieit Kpurtepun Hlxama
aemble cpopmupoBa | popMHPOBaAHUSA OlleHMBAHHS | OIleHMBA
KOMIIeTe | HHOCTH HUS
HIMH
YK-4 [Toporoserit 1.PaGoTana 3HATb: STHYECKUE HOPMBI Texymmit 41-60
y4eOHBIX KyJIbTYP H3Y4aeMbIX SI3bIKOB, | KOHTPOJIb: 0annoB
3aHATHAX. 0OIIEKy b TypHBIC YCTHBII OTIPOC
2. YHUBEPCAJIMHU, TPUHIIUATIBI Ha 3aHATHUAX;
CaMocTosTeNIbHas | YCTHOTO U TUCHhbMEHHOTO BBITTOJTHCHUE
pabora. O0IICHHS TECTOBBIX
YMeTb: HAaXOIUTh Iy TH K 3aJaHUI
COTPYIHUYECTBY HA OCHOBE | AK3aMEH
MPHUHIUIIOB YBaXCHUS
CBO€00Opa3Us HHOSI3EITHON
KyJIbTYPbI ¥ IIEHHOCTHBIX
OpHEHTAINI UHOS3BITHOTO
coIyMa
[poxsunyTsiii | 1.PaGorana 3HAThb: STHYECKUE HOPMBI Texymuii 61-100
y4eOHBIX KyJIbTYP H3Y4aeMbIX SI3bIKOB, | KOHTPOJIb: 0amios
3aHATHUAX. 00IIeKyIbTypHBIC pedeparsi,
2. YHUBEPCAJIMHU, TPUHIIUATIBI Npe3eHTAalHH,
CaMmocrodTeNnbHas | YCTHOTO U MTUCbMEHHOTO Hay4HbIE
pabora. o0TICHMS TOKITAIBI.
YMeTh: HAXOIUTH Iy TH K 9K3aMeH

COTPYAHUYECTBY Ha OCHOBE
MPHUHIUIIOB YBaKCHHUS
CBOC00Opa3HUs HHOSI3BITHON
KyJIbTYPbI ¥ IICHHOCTHBIX
OpHUEHTAIUI HHOSA3BIMHOTO
comyMma
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Baagers: HaBBIKAMH
B3aUMOJICHCTBUSA c
VWHOS3BIYHBIMH KYJIBTYy paM U
C TO3WLOUH KyJIBTYpPHOTO
peNsSTHBH3MA "
TOJIEPAHTHOCTH

CIIK-1

[Toporoserit

1.PaboTana
y4ueOHBIX
3aHIATHSIX.

2.
CaMocTosTeIbHAS
pabora.

3HaTb: OCHOBBI
HH(OpMaLMOHHOH 1
oubnuorpapuyeckoin
KYJIbTYPBI,
nH()OPMaIMOHHO-
JIMHTBUCTHYCCKHE
TEXHOJIOTHH MPU
coOMoaeHIN
HH(DOPMALIMOHHO
0e30macHOCTH

YmeTh: nofaTh Hay4YHBII
Marepuai npu
HCITOJIH30BaHUH
COBpPEMEHHBIX METOIOB
WCCIIE/IOBAHMS

Texymuit
KOHTPOIIb:
YCTHBIN OTIPOC
Ha 3aHITHAX
BBITIOJTHEHUE
TECTOBBIX
3aJaHui
3K3aMeH

41-60

0aIoB

[IpoBuHy THII

1.PaGoTana
yueOHBIX
3aHATHSIX.

2.
CamocTosiTebHas
pabora.

3HaTh: OCHOBBI
HHPOPMAIFMOHHOH 1
onobarorpaduIecKoit
KYJAbTYPBI,
HH(OPMAILMOHHO-
JIMHTBUCTHYECKHE
TEXHOJIOTHH MPH
COONOIeHN T
MH(POPMALIHOHHOH
0e3omacHOCTH

Ymernb: nonaTh Hay4HBIH
Marepuai npu
HCIIOJIb30BaHUH
COBPEMEHHBIX METO/IOB
HCCIIeJOBAHUS

Biaagern: HaBBEIKAMU
pelIeHUs CTaHIaPTHBIX
3a/1a4 npo eccuoHATbHO T
JIeSITeJIbHOCTH Ha OCHOBE
UH(POPMAIMOHHOM 1
oubnmorpaguaeckon
KyJAbTYPbI C MPUMEHEHHUEM
MH(POPMAIUOHHO-
JIMHTBUCTHYECKHUX
TEXHOJIOTUH

Texymuii
KOHTPOJIb:
MIPE3EHTALIHH.
9K3aMeEH

61-100
0aoB

3. Tunosblie 3aJaHud MWJIM HHbIC MaTepHaJlbl, HCOﬁXOI[I/IMI)Ie AJIA OIEHKH
PE3YJALTATOB OCBOCHHUSA IIPOI'PAMMBbI JTUCHHUILJINHBI




['ocynapcTBeHHOE 00Pa30BATENBHOE YUPEKICHUE BBICIETO 00p a30BaHMs
MOCKOBCKHUNTOCYIAAPCTBEHHbBIM OBJIACTHOU YHUBEPCUTET

MIroy)
NHCTUTYT TUHTBUCTUKY U MEXKYJILTYPHOM KOMMY HUKAIIAN
DaxkyabTET PpOMAHO-TEPMAHCKHUX SI3BbIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

TeMbl JOKJIAI0B U npe3eHTaun171 o JUCHUIINHE «JIekCuKoJI0Trus»

OunenuBaembie komnerennuu: YK-4; CIIK-1

Ypogens: [Top oroseii/[IpoBUHYTHIH

=

AKpPOHUMBI B COBPEMEHHOM AHTJIMMCKOM SI3BIKE.

2. KonBepcusi kak crmoco0® clIoBOOOpa3oBaHUS B COBPEMEHHOM aHTJIHHCKOM
A3bIKE.

3. Tlouarue ACCUMIISIINUA 3aMCTBOBAaHUN u METOINKA ee
UCCIIEIOBAHMUS.

4. ]JlepuBalMOHHBIA MOTEHIMAJ 3aMMCTBOBAHHBIX CIIOB.

. CeMaHTHYECKasI CTP YKTYpa HEOJTOTHU3MOB-CY IIIECTBUTENIbHBIX B OpPUTAHCKOM U

aMep MKaHCKOM BapHaHTaX aHTJIUHACKOTO S3bIKa.

. ®pa3zeonornyeckasi CAHOHUMHUS B COBP EMEHHOM aHTJIUHACKOM SI3BIKE.

. ®pazeonoruyeckasi aHTOHUMHUSI B COBPEMEHHOM AHTJIMICKOM SI3BIKE.

8. ABTOopckue mpeoOpaszoBaHus  (GpPa3eoJOTHUECKHX  ©IUHUI] W X
CTHJIMCTHYECKOE MCIIOJIHh30BaHNE (OKKa3HMOHAIN3MBI ).

9. lmena coOCTBEHHbIE B S3BIKE peEKJIaMbl (Ha MaTepUaie PYCCKOTO H
AHTJIMICKOTO SI3BIKA).

10./InanekTu3Mbpl B AHTJIMHCKOM SI3bIKE (HA MaTepualie MOTIAHICKUX WU
HPJIAHJCKUX JTUAJICKTH3MOB).

11./IlnaxpoHnyeckas MOJIHMCEMHS Ha3BaHUM OJCKIbI B aHTJIHMHCKOM S3BIKE.

12.HanmmoHanbpHO-KYJIBTypHAs CIIeIU(UKa MMPO3BUI B AHTIUNUCKOM SI3bIKE.

13. AHTOHUMUS CIIOKHBIX CIIOB B COBPEMEHHOM aHTJIMMCKOM S3BIKE.

14. AdbdukcanbHbie 3aMMCTBOBAHUSI B AHTJIMMCKOM SI3BIKE.

15.CemaHTUueCKH€ OCOOEHHOCTH PYCCKMX 3aMMCTBOBAHUN B aHIJIUNWCKOM
SI3bIKE.

16.imeHa CcOOCTBEHHBIC B aHTJIMHCKOW aBTOPCKOM CKa3Ke W CIIOCOOBI WX
repeaayn Ha PYCCKUM SI3BIK.

17.Heodurmanbapie  uUMEHAa  COOCTBEHHbIE B  OpUTAHCKOM  BapHUaHTE
AHTJIMICKOTO SI3BIKA.

18.513pIK0Bast Urpa B TEKCTaX MECEHHOTO JKaHpa.

19.Cnioco6sl BeIp@KEHUS YCIOBHUS B PYCCKUX M AHTJIMMCKHUX IMOCIOBHUIAX.

20.CTpyKTypHO-CEMaHTUYECKHE OCOOCHHOCTH aHTJIMACKHUX MOCIOBUI] U

MTOTOBOPOK C MP OCTPAHCTBEHHO-BPEMEHHBIMHU XaPaKTEPUCTUKAMH.,

o1

~N o
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http://cheloveknauka.com/strukturno-semanticheskie-osobennosti-russkih-poslovits-i-pogovorok-s-prostranstvenno-vremennymi-harakteristikami
http://cheloveknauka.com/strukturno-semanticheskie-osobennosti-russkih-poslovits-i-pogovorok-s-prostranstvenno-vremennymi-harakteristikami

Kpurepuu onieHMBaHus J0KJIa/Aa

Iloka3arennb bana
Jloknag COOTBETCTBYET 3asBIICHHOM TEeMeE, BBITIOJIHEH C | OTIUYHO 8-10
MPUBJICYCHUEM JIOCTATOYHOrO KonmvecTBa HaydHeix u | 81-100%
MPAKTHYECKUX MCTOUYHUKOB IO TeMe, OakajgaBp B COCTOSHUU
OTBETUTH HA BOIIPOCHI 10 TEME JIOKJIaJa.
Jlokiiag COOTBETCTBYET 3asBJICHHOW TEeM€, BBINOJHEH C | XOPOIIO 5-7
NPHUBJICYCHUEM JIOCTAaTOYHOI'O KOJIMYecTBa Hay4yHblx u | 61-81%
IPAKTUYECKUX MCTOYHUKOB II0 TeMe, OakalaBp B COCTOSIHUM
OTBETUTh HA BONPOCHl IO TeME [OKJIaja, HO JOIyCKaeT
HEKOTOPHIC HETOYHOCTH B OTBETE
Jloksiaa B 11€JI0M COOTBETCTBYET 3asBJICHHON TeMeE, BBIIIOIHEH | YIOBJIETBOPUTEIBHO 2-4
C TpHUBJICYCHHEM HECKOJbKMX Hay4YHbIX M mpaktuyeckux | 41-60%
HUCTOYHUKOB IO TeMe, OaKkalaBp B COCTOSHHHM OTBETHTH Ha
4aCTh BOIIPOCOB 110 T€ME JIOKJIA/1a.
Jlokrmag He COBCEM COOTBETCTBYET 3asiBICHHOM TeMe, | HeyAoBieTBopuTenbHo | 0-1
BBITIOJTHEH C WCITOJIb30BAaHUEM TOJBKO | wim 2 mcrtouyHukos, | 0-40%
OakanaBp JIOMyCKaeT OMMOKM MPH U3JI0KEHUU MaTepuana, He
B COCTOSIHUM OTBETHTH Ha BOIIPOCHI 10 TEME JIOKJIa1a.
KpuTtepuu oneHMBaHUs NPe3eHTALUH
IToxa3zarenb baun
ITpencraBnsemast uHdopmanus CHUCTEMATU3UPOBAHA, | OTIIMYHO 8-10
mocjenoBaTeIbHa M JIOTHYecKH cBsizaHa. [Ipobmema packpeita | 81-100%
nosHOCThIO. [ITNpoKo Hcronb30BaHbl BO3MOKHOCTH TEXHOJIOTUU
Power Point.
[IpencraBnsemas uHMopManusi B ILEJIOM CHUCTEMAaTU3UPOBaHA, | XOPOIIO o-7
MOCJIeI0OBaTeNIbHA 1 JIOTUYECKH CBsI3aHa (BO3MOXHBI HeOombime | 61-81%
OTKJIOHEHHS). [IpoGiema packpsITa. Bo3moxHBI
HEe3HAYMTEbHbIC OMMOKK Tpu odopmiieHuu B Power Point (He
0oJiee IByX).
[IpencraBnsiemas HHGOPMALIKS B IIEJIOM CUCTEMAaTH3UPOBaHa, HO | YIOBJIETBOPUTEIHHO 2-4
HE TocienoBaTelbHa W He cBs3aHa Jjornuecku. [IpooGmema | 41-60%
packpeiTa HE TOJHOCThIO. BoO3MOXHBI  omMOKM  HpH
odopmiiennn B Power Point.
[IpencraBnsemas uH(poOpMalnMs HE CHCTEMaTH3MpOBaHA U He | HeynxoBierBopurtenbHo | 0-1
coBceM mocienoBatenbHa. [Ipodinema packpbeita He ToHOCTRIO. | 0-40%
BoeiBogbl He crenaHbl WM He 0OOCHOBaHBL. Bo3MokHOCTH
TexHoJoruu POWer Point ucross30BaHbl UL YaCTHYHO.




['ocynapcTBeHHOE 00Pa30BATENBHOE YUPEKICHUE BBICIETO 00p a30BaHMs
MOCKOBCKUNTOCYAAPCTBEHHbBIM OBJIACTHOM YHUBEPCUTET
MIroy)

NHCTUTYT TUHTBUCTUKU U MEXKYJIBTYPHON KOMMY HUKAITUH
DaKyJIbTET PpOMAHO-TEPMAHCKHUX SI3bIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

IpakTuueckoe3aganme Classification of morphemes
o JucHHIIHHE «JIekCHKoJI0THs

Tema: Mop pembl. Knaccuduxanus mopdem. AnnomMopdai.
OueHuBaemMbie KOMIIETEHIIUM
YK-4; CIIK-1

Yposens: [Ioporossii

Segment the following words into morphemes. Define the semantic types and the
structural types of morphemes constituting the given words.

Model: careful

The word careful can be segmented into two morphemes: care- + -ful.

a) semantically care- is a root morpheme; -ful is an affix

b) structurally care- is a free morpheme; -ful is a bound morpheme

inwardly, pleasure, reservation, bigger, reconstruction, moneywise, counterculture,

specialize, purify, pre-school, expressionless, befriend, weekly, lengthen, superpower,
computerize, suspect, forget-me-not, workaholic, impolite.

KpnTepnn OICHUBAHUA BBINMOJHCHUA IPAKTHYICCKOI'O 3aJaHUA

IHoka3zarTesn Bbaan

3aaHue BBIIIOJIHEHO ITOJTHOCTRIO, KOJIMYECTBO OIINOOK — He 0oiiee 5% 5

3a/1aHKe BBIIIOJTHEHO IPaKTUIECKH MOJTHOCThIO, KOJIWYECTBO OMHOOK — | 4
He 6ostee 10%

3ajaHue BBIITOJHEHO YaCTUIHO , KOJIMYECTBO OIIMOOK — He 0oJiiee 30%. 3

3aJiaHue BBITIOJIHEHO, HO COAEP )KUT MHOKECTBO OUOOK — OoJiee 50%. 2




['ocy mapcTBeHHOE 00pa30BATEIbHOE Y IPEIKICHUE BBICIICTO 00p a30BaHMs
MOCKOBCKUNTOCYAAPCTBEHHbBIM OBJIACTHOM YHUBEPCUTET
MIroy)

NHCTUTYT TUHTBUCTUKU U MEXKYJIBTYPHON KOMMY HUKAITUH
DaKyJIbTET PpOMAHO-TEPMAHCKHUX SI3bIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

IpakTuueckoe 3aganume Compoundwords analysis
o JucHHIIHHE «JIekCHKoJI0THs

Tema: CiioBocioxenue
OnenuBaemMbie KOMIIETEHIUN
YK-4; CIIK-1

Yposens: [IpoasunyThIii

To analyze the lexical unit snow-white we can apply a number of classifications:
1. According to the way of formation this word is compound, thus it is formed by
means of composition.
According to the part-of-speech classification it is a noun.
According to the way the components are joined together it is neutral.
According toits structure it is a compound word proper.
According to the relations between the components it is a subordinative
compound with comparative relations.
According to the order of the components it is asyntactic.
According tothe meaning of the whole compound it is non-idiomatic.

abrowm

~No

Use the plan above and analyze the following units:
All-or-none, golden-haired, radio-network, to job-hop, make-up, to clockwatch,

autotimer,  walkie-talkie, stereophonic, brawn-drain, too-too, can-do, shock-frock, to
fingerprint, phone-in, statesman, work-in, to cold-shoulder.

KpnTeplm OINCHUBAHUS BLINMOJTHECHUA NPAKTHYECCKOI0 3alaHUA

Iloxka3arean baaa

3aJaHUE BIIIOJIHEHO INOJIHOCTBIO, KOJTMYECCTBO omuoOoK —He 6oiree 5% 5

3a/laHue BBIMIOJTHEHO NP AaKTUYECKU MOJHOCThIO, KOJITUYECTBO OMIMOOK — | 4
He 6ostee 10%

3aiaHye BBIIIOJIHEHO YaCTUYHO, KOJIMYECTBO OIIMOOK — He 0oJiee 30%. 3

3a1aHue BBITIOJIHEHO, HO COAEP )KUT MHOKECTBO OITUO0K — 60Jiee 50%. 2




['ocy mapcTBeHHOE 00pa30BaTENbHOE yYPEKICHUE BBICLIETO 0Opa30BaHuUsI
MOCKOBCKUNTOCYAAPCTBEHHbBIM OBJIACTHOM YHUBEPCUTET

(MI'OY)

NHCTUTYT TUHTBUCTUKY U MEXKYJILTYPHOM KOMMY HUKAIIAN
DaxkyabTET PpOMAHO-TEPMAHCKHUX SI3BbIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

TeMbl 1151 YCTHOTO O1Ipoca
0 JUCHHUILIHHE «JIekcuKkoI0rusm»

OunenunBaemble komnerenuuu: YK-4; CIIK-1

Lexicography. The main types of dictionaries.
Archaic words and neologisms.
Aspects of lexical meaning.

Syntactical classification of phraseological units.
Antonymy. Types of antonyms.
Structural classification of phraseological units.

CoONOTRWNE

. Semantic classification of phraseological units.
10 Classification of homonyms. Sources of homonymy.

The problem of synonymy. Classification of synonyms.

Polysemy and homonymy. The structure of a polysemantic word.

11.Phraseological units: the definition and characteristic features. Classifications of

phraseological units.

12.Development of lexical meaning. Causesand types of semantic changes.

13.Secondary ways of word formation: shortening, acronymy, back formation,
blending, sound interchange, sound imitation, stress interchange.

14.Metaphor and metonymy as mechanism of creating new meaning.

Kpurepun onieHMBaHusI YCTHOTO OIIpoca

Iloxa3aTean

Baan

OTBeT TONHBIH U COACPKATCIBbHBIA, COOTBETCTBYET TEME;
OakalaBp ymeeT apryMEHTHPOBAHO OTCTaMBaTh CBOIO TOYKY
3peHUsl, IEMOHCTPUPYET 3HAHUE TEPMUHOIOTUU U CLUHUIIIIUHbI

OTJINYHO

81-100%

8-10

OTBeT copepKaTeyIbHbII, COOTBETCTBYET TEME, HO COACPKHUT 1 -
2 ommOku; OakamaBp yMmeeT apryMEHTHPOBAHO OTCTanBaTh
CBOI0O TOYKY 3pEHUsA, OEMOHCTPUPYET 3HAHHE TEPMHHOJIOTHU
JUCIIUITIIINHBI

XOPOIIIO
61-81%

5-7

OTBeT B 11€JIOM COOTBETCTBYET TEME (HE OTPA’KEHBI HEKOTOPBIE
acTeKThl); OakalaBp yMeEeT OTCTauBaTh CBOIO TOYKY (XOTS
apryMeHTallHs He BCer/ia Ha JJOJHKHOM YPOBHE); IEMOHCTPUPYET
YAOBJIETBOPUTEIBHOE 3HAHUE TEPMUHOJIOTUH AU CIUATIIMHbI

YIIOBJIETBOPUTEIBHO
41-60%

2-4

OTBeT HENoJIHBIN Kak M0 00beMy, TaK U M0 COAEPKAHHIO (XOTH
U COOTBETCTBYET TEME), COAEPKUT CEepbe3HbIe OIIMOKU;
apryMeHTallMsi  H€  Ha  COOTBETCTBYIOUIEM  YPOBHE,
IPUCYTCTBYIOT MPOOJIEMbl C YHOTPEOJEHUEM TEPMHHOJIOTHU
JUCUHUILINHBI

HEYJIOBJIETBOPUTEIIEHO
0-40%




['ocy mapcTBeHHOE 00pa30BATEIbHOE Y IPEIKICHUE BBICIICTO 00p a30BaHMs
MOCKOBCKUNTOCYAAPCTBEHHbBIM OBJIACTHOM YHUBEPCUTET
MIroy)

NHCTUTYT TUHTBUCTUKU U MEXKYJIBTYPHON KOMMY HUKAITUH
DaKyJIbTET PpOMAHO-TEPMAHCKHUX SI3bIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

Tectr (Bapuantl)
o AUCHHITHHE «JIeKcHKoI0THs

OueHnnBaemMbie KOMIECTEHIIUN:
YK-4; CIIK-1
Yposensn: [loporossii

1. Immediate constituents are:

a) two meaningful components the word breaks into ateach stage of morphological analysis:
b) the elements which are no longer divisible

c) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form
and meaning

2. The analysis of the word “spinster” = noun, countable noun, human, adult, female, who
has never been married is:

a) contrastive

b) Immediate Constituents analysis

c) componential

d) transformational

3. The major criteria for distinguishing between phraseological units and free word-groups
are:

a) semantic

b) stylistic

c) semantic and structural

d) structural

4. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

5. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

c) productive and non-productive

d) native and borrowed

6. The name given to the use of the same word in two or more distinct meanings is:
a) antonymy
10



b) polysemy
C) synonymy
d) paronymy

7. Words denoting objects and phenomena which are things of the past and no longer exist
are called:

a) archaisms

b) historisms

c) borrowings

d) neologisms

8. The words “incredulous’ and “incredible” are:
a) homonyms
b) antonyms
C) paronyms
d) synonyms

9. The members of a thematic group which belong to the same part of speech and are so
close to one another semantically that to be able to use them correctly in speech we require
exact knowledge of the shades of meaning and stylistic connotations are:

a) synonyms

b) antonyms

c) homonyms

d) paronyms

10. The synonyms “dad —father— parent” are:
a) ideographic

b) ideographic — stylistic

c) stylistic

d) slang

11. The structure of the word “blue-eyed” is:
a) simple

b) affixed

c) compound

d) compound-affixed

12. the structure of the word “handful” is:
a) simple

b) affixed

c) compound

d) compound-affixed

13. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

14. The word “baby-sit” was formed by:
a) affixation
b) abbreviation

11



C) composition
d) back formation

15. The word “buzz” was formed by:
a) conversion

b) back formation

c) sound imitation

d) sound interchange

16. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c) back formation

d) conversion

17. Which of the words has a derived stem:
a) darkness

b) teacher

¢) unbound

d) uncomfortable

18. Find a word witha compound stem:
a) greenhouse

b) unemployment

c) insignificant

d) mouthful

19. Which of the words is built in accordance with the formula: adj+ suff?
a) irresistible

b) invariably

c) impossible

d) good-for-nothing

20. Which of the words is built in accordance with the pattern: in- + Verb + -able + -ly:
a) impossible

b) irresistible

c) invariably

d) unbelievably

21. Find a deverbal substance denoting the result of the action:
a) to smile —a smile

b) to help — help

c) to find—a find

d) to glance —a glance

22. Find a deverbal substance denoting an instance of the action:
a) to leak —a leak

b) to peel —a peel

Cc) to dress—a dress

d) to glance —a glance

23. Find a compound noun:
12



a) theatre-goer
b) rain-driven
c) Afro-American
d) warm-hearted

24. Find a compound adjective:
a) sick-leave
b) backbite
c) armchair
d) sky-blue

25. Find a compound word in which the components are placed one after another
(juxtaposition):

a) Anglo-Saxon

b) horseman

C) sportsman

d) handiwork

26. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence

b) telephone

C) gasometre

d) fountain-pen

27. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
b) hazel-eyed
c¢) sunflower
d) statesman

28. Find an example of a compound-affixed adjective formed with thehelp of a suffix:
a) ice-cold

b) age-long

c) absent-minded

d) red-hot

29. Find an example of a compound-affixed noun:
a) masterpiece

b) short-sighted

c) good-looking

d) shoe-maker

30. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c) willy-nilly

d) blueprint

31. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

13



d) looking-glass

32. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c) lady-bug

d) railroad

33. Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

C) actor-manager

d) pooh-pooh

34. Find a syntactic compound word:
a) thick-haired

b) nobleman

c) green-eyed

d) wrapping-paper

35. Find a compound with a unity stress:
a) sun-flower

b) door-nail

c) ill-nature

d) snow-white

36. Find a compound with a double stress (primary and secondary):
a) dog-kennel

b) heartache

c) bluebell

d) workhouse

37. find a compound with two level stresses:
a) torch-light

b) newspaper

c) fellow-man

d) bookcase

38. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

C) engine-driver

d) bluestocking

39. Find a graphical abbreviation:
a) e.g.

b) fancy

c) tram

d) YMCA

40. Find an initial abbreviation which is read asa succession of the alphabetical readings of
the constituent letters:

14



a) BBC
b) Mrs.
c) radar
d) RAF

41. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym

c) a lexical abbreviation
d) a blend

42. Find an example of ideographic-stylistic synonyms:
a) to see —to view

b) to see —to behold

C) to see —to observe

d) to see —to watch

43. Find the dominant of the synonymic set:
a) celebrated

b) famous

c) distinguished

d) eminent

44. Find an example of absolute synonyms:
a) eye-doctor — occulist

b) large — vast

c) to get—to receive

d) word-building — word-formation

45. Find an example of homographs:

a) bow (moxion) — bow (i1yk)

b) right (mpassrit) — write (mucars)

C) ring (kombio) — ring (TeneoHHBIN 3BOHOK)

d) to found (ocuoBwiBath)— found (past tense to find)

46. Find an example of homophones:

a) lead (cBunemn)— lead (Bectn)

b) can (ymeTh; ObITH B COCTOSIHHH)— Can (KOHCEPBUPOBATH)
¢) long (mmuHEIH) — long (xaaTh)

d) meat (msco) — meet (BcTpeyarts)

47. Find an example of a free word-group:
a) to read books

b) to cry for the moon

c) to fall in love

d) to fly into a rage

48. Narrowing of the meaning is:
a) generalization

b) specialization

c) hyperbole

d) litotes
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49. Degradation of the meaning is:
a) elevation

b) degeneration

) specialization

d) generalization

50. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of a language

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

TecTbl MOPOroBOro ypoBHsi orieHNBaOTcs U3 pacuera 100 OaioB, KaXablil MPaBUIBHBIA OTBET
OILICHUBAETCs B 2 Oasia.
[IIkana cOOTBETCTBHS PEUTUHTOBBIX OIEHOK MATHOAIBLHBIM onleHKaM: 100 — 81- «otmmuno» (5);
80 — 61 - «xopomo» (4); 60 — 41 - «ynoierBoputenabHo» (3); 40 — 21 - «HEYIOBICTBOPUTEIHEHO»
(2), 20— 0 - «HE0OXOIUMO MTOBTOPHOE U3YUCHHUEY.

Kpurepun onenku tecra (IoporoBblii ypoBeHb)

OueHKa 110 5-0aIpHOMI cucTeEME Onenka no 100-6amneHO# | Bamiel g arrectanuun
CHUCTEME

5 OTJIHMYHO 81100 17-20

4 | xopomio 61 —80 13-16

3 | yIOBIETBOPHUTEILHO 41 -60 9-12

2 | HEYIOBIIETBOPHUTEIHLHO 21 —-40 5-8

1 | Heobxomumo OBTOPHOE 0-20 0-4

HU3YUYCHUE
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['ocynapcTBeHHOE 00Pa30BATENBHOE YUPEKICHUE BBICIETO 00p a30BaHMs
MOCKOBCKHUNTOCYIAAPCTBEHHbBIM OBJIACTHOU YHUBEPCUTET

MIroy)
NHCTUTYT TUHTBUCTUKY U MEXKYJILTYPHOM KOMMY HUKAIIAN
DaxkyabTET PpOMAHO-TEPMAHCKHUX SI3BbIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

Tect (Bapuanr2)
o AUCHHITHHE «JIeKcHKoI0THs

OueHnnBaemMbie KOMIECTEHIIUN:
YK-4; CIIK-1
Yposensn: [loporossii

1. Immediate constituents are:

a) two meaningful components the word breaks into ateach stage of morphological analysis:

b) the elements which are no longer divisible

c¢) the smallest linguistic units possessing meaning

d) constituents incapable of further division into any smaller elements possessing sound-form and
meaning

2. The major criteria for distinguishing between phraseological units and free word-groups are:
a) semantic

b) stylistic

¢) semantic and structural

d) structural

3. Word structure consists in:

a) making new words with the help of morphemes
b) segmentation of words into morphemes

c) segmentation of words into syllables

d) making new words with the help of composition

4. By their activity in the language affixes are classified into:
a) recurrent and unique

b) prefixes and suffixes

¢) productive and non-productive

d) native and borrowed

5. The structure of the word “blue-eyed” is:
a) simple

b) affixed

c) compound

d) compound-affixed

6. the structure of the word “handful” is:
a) simple

b) affixed

c) compound

d) compound-affixed
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7. The word “mike” was formed by:
a) affixation

b) composition

c) abbreviation

d) conversion

8. The word “baby-sit” was formed by:
a) affixation

b) abbreviation

C) composition

d) back formation

9. The word “buzz” was formed by:
a) conversion

b) back formation

¢) sound imitation

d) sound interchange

10. The word “middle-of-the-roader” was formed by:
a) composition

b) affixation

c) back formation

d) conversion

11. Which of the words has a derived stem:
a) darkness

b) teacher

c) unbound

d) uncomfortable

12. Find a word witha compound stem:
a) greenhouse

b) unemployment

c) insignificant

d) mouthful

13. Find a deverbal substance denoting the result of the action:
a) to smile—a smile

b) to help —help

¢) to find—a find

d) to glance —a glance

14. Find a deverbal substance denoting an instance of the action:
a) to leak —aleak

b) to peel-apeel

c) to dress—a dress

d) to glance —a glance

15. Find a compound word whose components are joined together with a linking vowel:
a) photointelligence

b) telephone

C) gasometre

d) fountain-pen

16. Find a compound word whose components are joined together with a linking consonant:
a) handicraft
18



b) hazel-eyed
¢) sunflower
d) statesman

17. Find an example of a compound-affixed adjective formed with the help of a suffix:
a) ice-cold

b) age-long

c¢) absent-minded

d) red-hot

18. Find a coordinative compound formed by joining phonically varied rhythmic forms:
a) long-living

b) man-servant

c) willy-nilly

d) blueprint

19. Find a coordinative (additive) compound:
a) singer-songwriter

b) night-school

c) sunflower

d) looking-glass

20. Find a coordinative (reduplicative) compound:
a) rah-rah

b) walkie-talkie

c) lady-bug

d) railroad

21.Find an example of a subordinate compound:
a) fifty-fifty

b) snowball

C) actor-manager

d) pooh-pooh

22. find a non-motivated (idiomatic) compound:
a) sunrise

b) narrow-minded

c) engine-driver

d) bluestocking

23. Find a graphical abbreviation:
a) e.g.

b) fancy

c) tram

d) YMCA

24. Find an initial abbreviation which is read asa succession of the alphabetical readings of the
constituent letters:

a) BBC

b) Mrs.

c) radar

d) RAF

25. The word “CLASS” is:
a) a graphical abbreviation
b) an acronym
c) a lexical abbreviation
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d) a blend

26. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the patterns after
which words are combined into word groupsand sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the investigation of
each style ofthe language

27. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

28. A non-affixal type of word-building is:
a) composition

b) conversion

c) sound imitation

d) reduplication

29. The derivational stem (base) and derivational affix into which the derived word is segmented
are:

a) immediate meaningful constituents

b) ultimate constituents

c) lexical morphemes

d) grammatical morphemes

30. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

c) the lexical meanings of its immediate constituents and from the structural meaning of its pattern
d) the lexical meaning of its ultimate constituents and from the structural meaning of its pattern

31. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents

d) the nature of the ultimate constituents

32. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other partsof speech

33. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other partsof speech

34. Lexical abbreviation of words consists:
a) in adding a part of a word
b) in clipping a part of a word
c) in clipping a prefix
20



d) in adding a suffix

35. Find a derivational adjective-nominal compound:
a) gas-stove

b) red-nosed

C) motorway

d) brick-layer

36. Find nominal-verbal compound:
a) proof-read

b) cross-question

c) fireman

d) writing-table

37. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

38. Find a nominal compound:
a) colour-blind

b) telecast

c) pale-faced

d) bottle-neck

39. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

¢) MP’s speech

d) NATO

40. Find an abbreviation which is read as an ordinary word:
a) H-bomb

b) UNESCO

c) USA

d) BBC

41. Find an example of apocope:
a) curtsy

b) exam

c) flu

d) bus

42. Find an example of aphaeresis:
a) tec

b) taxi

c) plane

d)S.0.S.

43. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

44. Find the word that has been clipped both atthe beginning and at the end:
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a) phone
b) photo
c) fridge
d) smog

45. Find an example of a blend:
a) fence

b) zoo

c) U-boat

d) motel

46. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone—to bone

c) an ape—to ape

d) a pocket—to pocket

47. Find a denominal verb denoting an action produced with the object (instrumental relations):
a) acrowd —to crowd
b) a pump—to pump
c) a dress—to dress
d) a ferret—to ferret

48. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer —to hammer

b) a doctor—to doctor

c) abag-to bag

d) a pile—to pile

49. Find a denominal verb denoting placing into the object (relations of place):
a) ahead —to head

b) abottle —to bottle

c) asaw—to saw

d) an elbow —to elbow

50. Find a denominal verb denoting addition of the object:
a) a monkey—to monkey

b) a queue—to queue

c) a back —to back

d) a fish—to fish

TecTbl MOPOroBOro ypoBHsi orieHuBarOTCs U3 pacuera 100 6amnoB, KaXKapli MPaBUIBHBIA OTBET
olleHUBaeTcs B 2 6asia.

[IIkana coOTBETCTBUSI PEHTUHTOBBIX OIICHOK MATUOATEHBIM orleHKaM: 100 — 81- «otnuuno» (5);
80 — 61 - «xopomro» (4); 60 — 41 - «ynoBneTBoputenbHO» (3); 40 — 21 - «HEYIOBICTBOPUTEITHHOY
(2), 20 - 0 - «HEOOXOAMMO TTOBTOPHOE U3YUCHHUEY.

Kpurepun ouenku recra (IOporoBbiii ypoBeHb)

OrneHka o 5-0aaIbHON CUCTEME Ouenka no 100-6annbHON | bamiel gy arTecTanuu
CHCTEME

5 OTJIMYHO 81 -100 17-20

4 | xopormo 61 —80 13-16
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3 | yIOBIETBOPUTEILHO 41 - 60 9-12

2 | HEYAOBJICTBOPHUTEIHHO 21 -40 5-8

1 Heob6xomnmo MOBTOPHOE 0-20 0-4
U3yYeHHue
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I'ocynapcrBeHHOE 00pa3oBaTebHOE Y IPEKICHHIE BBICLICTO 00pa30BaHHsI
MOCKOBCKHUNTOCYIAAPCTBEHHBIM OBJIACTHOU YHUBEPCUTET
(MI"OY)

NHCTUTYT TMHTBUCTUKU U MEXKYJIbTYPHON KOMMY HUKAI[UH
@aKyJIbTET POMAHO-TEPMAHCKUX SI3bIKOB
Kadenpa teopun v mp akTUKH aHTTUHACKOTO SI3bIKA

Tecr (Bapmantl)
M0 TUCHUTLTHHE «JIeKCHKOJI0TH»

OueHuBaemMble KOMIIETEHIIUM
YK-4; CIIK-1
Yposenn: [IpoaBunyThIi

1. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

2. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

c) husband

d) machine

3. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d)wall

4. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

Cc) datum

d) cage

5. Find a Celtic loan-word:
a) dream

b) grass

c) cradle

d) road

6. The term “lexicology” is of:
a) Greek origin
b) Latin origin

24



c) French origin
d) Russian origin

7. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c) synchronic and diachronic

d) contrastive and general

8. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) a combination of changing elements

d) a stock of borrowings

9. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

10. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

11. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
c) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

12. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there is a word-for-word (morpheme-for-morpheme) translation

c) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

13. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
c) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit

14. General dictionaries deal with:
a) synonyms

b) antonyms

c) word-frequency

d) translation
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15. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries

c) explanatory dictionaries

d) general dictionaries

16. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

17. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

18. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c) irony and enantiosis

d) elevation and degradation

19. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process whena word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

20. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

C) euphemism

d) overstatement

21. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

c) His works are known everywhere.

d) They work at a big plant.

22. Find the word with the grammatical meaning of plurality (noun):
a) All hisanswers were correct.

b) He answers well.

c¢) If you are not sure, don’t answer this questions.

d) Your answer is wrong.
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23. Find the word in which the emotive charge is heavier:
a) large

b) big

c) tremendous

d) vast

24. Find the word which is colloguial in style:
a) parent

b) father

c) dad

d) ancestor

25. Find the word which is bookish in style:
a) darkness

b) harmony

c) foolish

d) glad

26. Find aslangism:
a) wife

b) sister

C) missus

d) mother

27. Find a professionalism:
a) a shop

b) a lab

c) a store

d) a barn

28. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

29. Find the word which is motivated morphologically:
a) father

b) singer

Cc) aunt

d) niece

30. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big

d) large

31. Find a word with an inflection:
a) worker

b) darkness

c) books
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d) rewrite

32. Find a word with a derivational affix:
a) night

b) heartless

c¢) Ivanov’s

d) papers

33. Find a word with two free morphemes:
a) unbearable

b) childhood

C) merry-go-round

d) first-nighter

34. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c) brotherly

d) houses

35. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

c) unknown

d) forecast

36. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

37. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

c¢) abnormal

d) co-educational

38. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

C) pre-teach

d) underestimate

39. Find a word with a Greek prefix:
a) post-school

b) anti-racist

Cc) extraordinary

d) overrun

40. Which of the words is built with a prefix denoting negation:
a) undo
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b) counter-strike
c) illogical
d) decentralize

41. Which of the words has a prefix denoting repetition:
a) enlarge

b) befriend

C) repeat

d) retake

42. Which of the prefixes denotes time relations:
a) post-

b) un-

c) ir-

d) dis-

43. Find a noun built with the help of a lexicalized grammatical suffix:
a) emptiness

b) transition

C) acting

d) waitress

44. Which of the suffixes is used for the formation of nouns?
a) -ship

b) -ly

c) -ful

d) -ize

45. Which of the suffixes is a verb-suffix:
a) -al

b) -en

c) -ed

d) -ion

46. Which of the suffixes is an adjective-suffix:
a) -or

b) -ous

C) -ness

d) -ment

47. Find a noun built with the help of a suffix denoting a female being:
a) worker
b) scientist
c) Chinese
d) actress

48. Find a noun built with the help of a suffix denoting diminutiveness:
a) sharpener

b) islet

c) designer

d) farmerette
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49. Find a noun built with the help of a suffix denoting collectivity:
a) peasantry

b) warmth

c) democracy

d) loneliness

50. Find a noun built with the help of asuffix denoting the agent of a verbal action:
a) socialist

b) auntie

c) driver

d) villager

51. Find a noun built withthe help of a suffix denoting the process of an action:
a) writer

b) development

c) readership

d) kingdom

52. Find a noun built with the help of a suffix denoting state:
a) materialism

b) educate

c) tiredness

d) interpretation

53. Which of the nouns is built with the help of a productive suffix:
a) victory

b) pianist

C) passage

d) boredom

54. Which of the nouns is built with the help of a non-productive suffix:
a) resistance

b) happiness

c) socialism

d) solution

55. Find an endocentric word-group:
a) white snow

b) to turn pale

c) side by side

d) day and night

56. Find an exocentric word-group:
a) heavy rain

b) to grow smaller

c) keen sight

d) great bravery

57. Find a phraseme:
a) red tape

b) small hours

c) heavy feathers
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d) to get the sack

58. Find an idiom:
a) a mare’s nest
b) heavy rain

c) cold reason

d) to fall ill

59. Which of the dialects became the national language of Britain?
a) Lowland
b) Northern
c) Western
d) Midland

60. Which of the words is more frequently used in the USA than in Britain:
a) underground

b) subway

C) tube

d) metro

61. Lexicology is a branch of linguistics which deals with...

a) the various means of expressing grammatical relations between words and with the
patterns after which words are combined into word groups and sentences

b) the outer sound form of the word

c) lexical units and the vocabulary of alanguage

d) the study of the nature, functions and structure of stylistic devices and with the
investigation of each style of the language

62.The largest two-facet lexical unit observed on the syntagmatic level of analysis is:
a) the word

b) the word-combination

c) the phrasal verb

d) the phraseological unit

63. A seme is:

a) the smallest element of the grammatical meaning
b) the root of aword

c) the smallest meaningful language unit

d) the smallest element of the lexical meaning

64. Affixation is:

a) a way of word-building consisting in adding an affix to the stem of a word
b) shortening of words

c) a way of word-building consisting in forming one part of speech from another
d) a way of word-building consisting in shifting the stress

65. A non-affixal type of word-building is:
a) composition

b) conversion

c) sound imitation

d) reduplication
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66. The derivational stem (base) and derivational affix into which the derived word is
segmented are:

a) immediate meaningful constituents

b) ultimate constituents

c) lexical morphemes

d) grammatical morphemes

67. The meaning of a compound is derived from:

a) the structural meaning of its pattern

b) the lexical meaning of its immediate constituents

c) the lexical meanings of its immediate constituents and from the structural meaning of its
pattern

d) the lexical meaning of its ultimate constituents and from the structural meaning of its
pattern

68. Compounds may be coordinate and subordinate according to:
a) the order of their immediate constituents

b) the nature of their immediate constituents

c) the relations between their immediate constituents

d) the nature of the ultimate constituents

69. Verbalization is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

70. Substantivation is:

a) the formation of verbs from other parts of speech

b) the formation of adjectives from other parts of speech
c) the formation of nouns from other parts of speech

d) the formation of adverbs from other parts of speech

71. Lexical abbreviation of words consists:
a) in adding a part of a word

b) in clipping a part of a word

c) in clipping a prefix

d) in adding a suffix

72. The term “polysemy” stands for:
a) the process of semantic development
b) the plurality of meanings

c) the connotation of the meaning

d) the transferred meaning of a word

73. The causes of semantic changes can be:
a) phonological

b) morphological

Cc) extra-linguistic

d) linguistic and extra-linguistic

74. A metaphor is a transfer of meaning on the basis of:
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a) comparison
b) similarity

C) opposition
d) contiguity

75. Find an example of a full Briticism:
a) fortnight

b) country

c) ship

d) window

76. Find an example of a full Americanism:
a) drug-store

b) friendship

c) childhood

d) cinema

77. Find the word the spelling of which inthe USA differs from that in Britain:
a) standard

b) labor

c) national

d) language

78. Find a Latin loan-word:
a) a cup

b) awife

c) a window

d)a glass

79. Find a Greek loan-word:
a) fruit

b) scheme

c) capital

d) table

80. Find a Scandinavian loan-word:
a) to read

b) to write

Cc) to speak

d) to take

81. Find a French loan-word:
a) ox

b) meat

c) pig

d) sausage

82. Find a German loan-word:
a) rain

b) prize

C) game

d) nickel
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83. Find an Italian loan-word:
a) article

b) balcony

C) question

d) fish

84. Find the word which is partially motivated morphologically:
a) cherry

b) apple

C) pear

d) cranberry

85. Find the word which is motivated phonetically:
a) hiss

b) pen

c) table

d) board

86. Find an example of a dead metaphor:
a) cold reason

b) cruel heat

c) the flower of her life

d) the hand of the watch

87. Find an example of a personal metaphor:
a) She is like a snake in the grass.

b) He bought a head of cabbage.

c) The moon is riding in the sky.

d) The moon is like a silver coin.

88. Find an example of zoosemy:

a) Don’t you be a dog in the manger.
b) She is always as busy as a bee.
c) He is as strong as an elephant.

d) “Rise like lions after slumber”.

89. Find an example of metonymy:

a) He had only a few coppers in his pocket.
b) We got to the mouth of the river.

c) Hewas a lion in the fight.

d) The valley was silent.

90. Find the case of synecdoche:

a) Everything smiled at him.

b) All hands aboard!

c) the childhood of the earth.

d) The leg of the table was broken.

91. Find the example of the generalization of meaning:
a) She has always been a good wife to him.
b) Have you looked through the journals which were received yesterday?
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c) We must write to the minister about it.
d) I don’t like her. Her manners are vulgar.

92. Find the example of the degradation of meaning:

a) The office was in the busiest part of London, in the City.

b) The hunter walked along the path, the hound running after him.
c) Our target is building civil society.

d) “Do you hear the villain?” groaned the tall young man.

93. Find a monosemantic word:
a) book

b) hydrogen

c) head

d) country

94. Find the case where diachronically we have not polysemantic words but homonyms:
a) table (cron) —table (rabmuiia)

b) pipe (tpy6a) — pipe (kyputensHas TpyOKa)

C) tube (Tpy6a) — tube (MeTpo)

d) ear (kxomoc) — ear (yxo)

95. Find a word with two bound affixational morphemes:
a) ruthless

b) kind-hearted

C) uneatable

d) book-keeper

96. Find a monomorphic word:
a) mighty

b) reader

c) daughter

d) ashtray

97. Find a polymorphic (derived) word:
a) uncomfortable

b) lamp-shade

c) firewall

d) forget-me-not

98. Find a polymorphic (compound) word:
a) unquestionable

b) unpredictable

C) government

d) lady-Kkiller

99. Which of the adjectives is built with the help of a suffix denoting the absence of the
quality?

a) girlish

b) understandable

c) careless

d) talkative
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100. Find an adjective built with the help of a suffix denoting the presence of the quality

in a small degree:
a) thoughtful

b) penniless

c) childish

d) reddish

TecTbl MPOABMHYTOr0 YPOBHsI OlleHMBAIOTCS W3 pacueta 100 0aymuioB, KakIblid MpPaBUIBHBIN

OTBET OIleHUBaeTca B 1 Oa.

[IIkana COOTBETCTBUS PEHTHHTOBBIX OLICHOK MATHOAIBHBIM omeHKam: 100 — 81- «otmuuno» (5);
80 — 61 - «xopomio» (4); 60 — 41 - «ynoBnerBoputensbHOY» (3); 40 — 21 - «HEYIOBICTBOPUTEITHHOY»
(2), 20 - 0 - «HEOOXOAMMO TTOBTOPHOE U3yUCHHUEY.

Kpurtepun ouenku recra (IpoABUHYTHIN YPOBEHBb)
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['ocynapcTBeHHOE 00Pa30BATENBHOE YUPEKICHUE BBICIETO 00p a30BaHMs
MOCKOBCKHUNTOCYIAAPCTBEHHbBIM OBJIACTHOU YHUBEPCUTET

MIroy)
NHCTUTYT TUHTBUCTUKY U MEXKYJILTYPHOM KOMMY HUKAIIAN
DaxkyabTET PpOMAHO-TEPMAHCKHUX SI3BbIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

Tect (Bapuant?2)
o AUCHHITHHE «JIeKcHKoI0THs

OuennBaeMble KOMIIETEHIUH
VK-4; CIIK-1

Yposens: [IpoasunyThIii

1.Special lexicology is:

a) the lexicology of a particular language

b) the lexicology of any language

c) the study of vocabulary at a given stage of language development

d) the study of vocabulary changes and development in the course of time

2. The word has:

a) only phonological aspects

b) only syntactic aspects

c) only semantic aspects

d) phonological, semantic and syntactic aspects

3. Two or more words identical in sound-form but different in meaning, distribution and
(in many cases) origin are:

a) antonyms

b) homonyms

C) paronyms

d) archaisms

4. Homophones are:

a) identical in spelling but different in sound-form
b) identical in sound-form but different in spelling
c) identical in spelling and sound-form

d) different in spelling and sound-form

5. When two or more homonyms can originate from different meanings of the same word,
when for some reason, the semantic structure of the word breaks into several parts, this
type of formation of homonyms is called:

a) borrowing

b) word-building

c) split of polysemy

d) composition
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6. Word-formation:

a) deals with segmentation of words into morphemes

b) deals with segmentation of words into phonemes

c) is an autonomous language mechanism which is used to make new words

d) is a language mechanism which is used to create new meaning for the words already
existing in the language

7. The morphemes which may occur alone and coincide with word-forms or immutable
words are:

a) free lexical morphemes

b) bound lexical morphemes

c) bound grammatical morphemes

d) allomorphs

8. Which meaning of the word-combination is conveyed by the pattern of arrangement of
the component words:

a) structural

b) lexical

C) primary

d) secondary

9. Which of the phraseological units are completely non-motivated and usually stable:
a) phraseological unities

b) phraseological fusions

c) phraseological collocations

d) terminological phraseologisms

10. Phraseological units are classified into noun, verb, adverb and adjective equivalents by
the criterion of:

a) non-variability of context

b) partial variability of context

c) function

d) idiomaticity

11. Find an example of a phraseological fusion:
a) to show one’s teeth

b) sunny smile

c) cold winter

d) heavy father

12. Find an example of a phraseological collocation:
a) to go to the cinema

b) to declare war

c) to get the sack

d) to beat about the bush

13. Find an example of a phraseological unity:
a) to know where the shoe pinches

b) to join the army

d) to speak well

d) to know everything
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14. Find an adverbial phraseological unit:
a) ill at ease

b) red tape

c) by heart

d) to keep house

15. Find a verb phraseological unit:
a) for the sake of

b) Jack of all trades

c) golden opportunity

d) to cut short

16. Find the word which is obsolete in Britain but modern in the USA:
a) building (=house)

b) to pronounce (=to speak)

c) to ask (=to question)

d) fall (=autumn)

17. Find the American form of Participle II:
a) written

b) spoken

C) proven

d) taken

18. A variety of a language which prevails in a district, with local peculiarities of
vocabulary, pronunciation and phrase is:

a) a dialect

b) an accent

c) a regional variant of standard language

d) standard language

19. British, America, Australian and Canadian English are:
a) different languages

b) accents

c) local dialects

d) regional variants

20. The science of dictionary-compiling is:
a) lexicology

b) lexicography

c) lexicon

d) lexical semantics

21. Find a Spanish loan-word:
a) institute

b) moment

c) cigar

d) telephone

22. Find a Russian loan-word:
a) sister

b) Kremlin

C) minute
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d) sport

23. Find an Arabian loan-word:
a) philosophy

b) chess

c) tomato

d) algebra

24. Find a Turkish loan-word:
a) café

b) physics

c) coffee

d) massage

25. Find a Chinese loan-word:
a) lemon

b) glass

C) tea

d) savage

26. Which is the most frequent meaning of the polysemantic word “hand”?
a) factory or dockyard worker

b) the pointer of a watch

c) side or direction

d) part of the human arm beyond the wrist

27. In which of the word-groups the lexical context is of primary importance to determine
the meaning ofa polysemantic word:

a) heavy storm

b) to make a good teacher

c) to make everybody laugh

d) to get to the place

28. In which of the word-groups the grammatical context is of primary importance to
determine the meaning of a polysemantic word:

a) heavy artillery

b) to make somebody work

¢) handsome reward

d) to take the train

29. Find an example of full lexical homonyms:
a) lead (Bectu) — lead (cBuHen)

b) ball (msa) — ball (6au)

c) rose (poza) —rose (past tense from to rise)
d) flat (xkBaprupa)— flat (mmockwuir)

30. Find an example of partial lexical antonyms:
a) match (cnuuka)— match (marty)

b) seal (tronenn) — seal (meuarp)

c) to lie (nexxarp) —to lie (yirarp)

d) coarse (rpyOsrii) — course (kypc)
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31. Find an example of full lexico-grammatical homonyms:
a) club (n) —to club (v)

b) pail (n) — pale — (ad))

c) since (prep) — since (conj)

d) to lie (mexxats) —to lie (;rate)

32. Find an example of partial lexico-grammatical homonyms:
a) for (prep) —for (conj)

b) sun (n)-—son (n)

c) bow (yk) —bow (mokson)

d) seal (tronenp) — seal (3ameuarath)

33. Find an example of root antonyms:
a) kind — cruel

b) important — unimportant

c) like —dislike

d) logical — illogical

34. Find an example of derivational antonyms:
a) love — hatred

b) beautiful — ugly

c) careful — careless

d) big —small

35. Find a set of words not belonging to the same thematic group:
a) tree —grow — green

b) journey — train — ticket

) sun — shine — brightly

d) apple —read — snow

36. Which of the words is divided into Ultimate Constituents:
a) un-touchable

b) un-break-able

C) un-mistakable

d) ir-resistible

37. Which of the word is divided into Immediate Constituents:
a) in-significant

b) in-attent-ive

c) un-doubt-ed-ly

d) pleas-ant-ly

38. Finda word with a pseudo-morpheme:
a) re-write
b) re-ceive
c) re-read
d) re-take

39. Find a word with a semi-affix:
a) well-behaved

b) long-winded

c) self-centred
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d) undisputable

40. In which of the suffixated words a root-morpheme has transformed into an affixational
morpheme?

a) actress

b) friendship

C) question

d) childish

41. Find a compound in which the components reflect the semantic relations of purpose:
a) neck-tie

b) wrist-watch

c) bookshelf

d) snowball

42. Find a compound in which the components reflect the semantic relations of time:
a) motorboat

b) night-club

c) bathroom

d) man-servant

43. Find a derivational adjective-nominal compound:
a) gas-stove
b) red-nosed
C) motorway
d) brick-layer

44. Find nominal-verbal compound:
a) proof-read

b) cross-question

c) fireman

d) writing-table

45. Find a verb-adverb compound:
a) a bookshelf

b) a double-check

c) a draw-back

d) a headmaster

46. Find a nominal compound:
a) colour-blind

b) telecast

c) pale-faced

d) bottle-neck

47. Find an example of a graphical abbreviation:
a) Mr. Brown’s office

b) V-Day

¢) MP’s speech

d) NATO

48. Find alexical abbreviation which is read as an ordinary word:
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a) H-bomb
b) UNESCO
c) USA
d)BBC

49. Find an example of apocope:
a) curtsy

b) exam

c) flu

d) bus

50. Find an example of aphaeresis:
a) tec

b) taxi

c) plane

d)S.0.S.

51. Find an example of syncope:
a) specs

b) prof

c) lab

d) cycle

52. Find the word that has been clipped both at the beginning and at the end:
a) phone
b) photo
c) fridge
d) smog

53. Find an example of a blend:
a) fence

b) zoo

c) U-boat

d) motel

54. Find an example of back-formation:
a) to read —read

b) to edit— editor

Cc) to instruct — instructor

d) to shake — shaker

55. Find a denominal verb denoting deprivation of the object:
a) a crowd —to crowd

b) a bone —to bone

C) an ape —to ape

d) a pocket —to pocket

56. Find a denominal verb denoting an action produced with the object (instrumental
relations):

a) a crowd — to crowd

b) a pump —to pump

c) a dress—to dress
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d) a ferret —to ferret

57. Find a denominal verb denoting some action characteristic of the subject:
a) a hammer —to hammer

b) a doctor—to doctor

c) a bag—to bag

d) a pile —to pile

58. Find a denominal verb denoting placing into the object (relations of place):
a) a head —to head

b) abottle —to bottle

C) asaw—to saw

d) an elbow —to elbow

59. Find a denominal verb denoting addition of the object:
a) a monkey —to monkey

b) a queue —to queue

c) a back —to back

d) a fish—to fish

60. Find a deverbal substance denoting the agent of the action:
a) tocut—a cut

b) to tramp —a tramp

c) to smile —a smile

d) to rush —rush

61. Find an example of a non-assimilated borrowing:
a) fellow

b) café

c) forest

d) meeting

62. Find an example of a completely assimilated borrowing:
a) hotel

b) restaurant

c) husband

d) machine

63. Find a loan-word not completely assimilated with the English language phonetically:
a) police

b) river

c) flower

d) wall

64. Find a loan-word not completely assimilated with the English language grammatically:
a) figure

b) army

C) datum

d) cage

65. Find a Celtic loan-word:
a) dream



b) grass
c) cradle
d) road

66. The term “lexicology” is of:
a) Greek origin

b) Latin origin

c) French origin

d) Russian origin

67. The two main approaches to studying language material are:
a) special and descriptive

b) historical and comparative

c) synchronic and diachronic

d) contrastive and general

68. Lexico-semantic system is:

a) a combination of interdependent elements

b) a type of classification of English vocabulary
c) a combination of changing elements

d) a stock of borrowings

69. The basic word-stock includes:
a) nouns

b) adjectives

c) different parts of speech

d) phraseological units

70. Archaisms are words which:

a) ousted some new words

b) are no longer used in everyday speech
c) are used to express new phenomena
d) are used with new meanings

71. A proper neologism is:

a) an old lexical unit for denoting a new object or phenomenon
b) a lexical unit existing in the language and changing its meaning
c) anew lexical unit that develops in the language

d) a new lexical unit for denoting a new object or phenomenon

72. Semantic borrowings are such units in which:

a) a new meaning for the unit existing in the language is borrowed
b) there is a word-for-word (morpheme-for-morpheme) translation

c) the spelling, pronunciation and meaning are borrowed

d) there is complete assimilation

73. A morpheme is:

a) the main unit of the lexical system

b) the smallest language unit which can stand alone as a complete utterance
c) the smallest meaningful language unit

d) a group of words which exists in the language as aready-made unit
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74. General dictionaries deal with:
a) synonyms

b) antonyms

c) word-frequency

d) translation

75. Historic events, geographical names, names for diseases, plants, animals, institutions are
included in:

a) encyclopedic dictionaries

b) linguistic dictionaries

c) explanatory dictionaries

d) general dictionaries

76. Dictionaries may be general and restricted by:

a) the nature of their word-list

b) the number of languages in which the information is presented
c) the language in which the information is presented

d) the amount of information presented

77. The dictionaries containing units in one language and their equivalents in another are:
a) translation dictionaries

b) explanatory dictionaries

c) etymological dictionaries

d) specialized dictionaries

78. The main types of semantic transfer are:
a) overstatement and understatement

b) metaphor and metonymy

c) irony and enantiosis

d) elevation and degradation

79. Metaphor is based on:

a) contiguity of referents

b) similarity of referents in shape, function, in position, in behaviour, etc.

c) the gradual process whena word passes from a general sphere to some special sphere of
communication

d) the gradual process when the meaning of a word becomes more general in the course of
time

80. Which of the following minor types of semantic transfer consists in naming unpleasant
or offensive referents in a polite, conventional, indirect or round-about way?

a) irony

b) enantiosis

c) euphemism

d) overstatement

81. Find the word with the grammatical meaning of singularity (noun):
a) He works well.

b) His work is done well.

c) His works are known everywhere.

d) They work at a big plant.
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82. Find the word with the grammatical meaning of plurality (noun):
a) All his answers were correct.

b) He answers well.

c) If you are not sure, don’t answer this questions.

d) Your answer is wrong.

83. Find the word in which the emotive charge is heavier:
a) large

b) big

c) tremendous

d) vast

84. Find the word which is colloguial in style:
a) parent

b) father

c) dad

d) ancestor

85. Find the word which is bookish in style:
a) darkness

b) harmony

c) foolish

d) glad

86. Find a slangism:
a) wife

b) sister

C) missus

d) mother

87. Find a professionalism:
a) a shop

b) a lab

Cc) a store

d) a barn

88. Find a vulgarism:
a) bad

b) negative

c) awful

d) bloody

89. Find the word which is motivated morphologically:
a) father

b) singer

c) aunt

d) niece

90. Find the word which is completely motivated morphologically:
a) long

b) endless

c) big
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d) large

91. Find a word with an inflection:
a) worker

b) darkness

c) books

d) rewrite

92. Find a word with a derivational affix:
a) night

b) heartless

c¢) Ivanov’s

d) papers

93. Find a word with two free morphemes:
a) unbearable

b) childhood

C) merry-go-round

d) first-nighter

94. Find a word with a bound root-morpheme:
a) suspicion

b) backward

c) brotherly

d) houses

95. Find a word formed with the help of a productive prefix:
a) amphitheatre

b) withdraw

c) unknown

d) forecast

96. Find a word formed with the help of a non-productive prefix:
a) enrich

b) interpersonal

c) disagree

d) rewrite

97. Find a word with a productive Germanic prefix:
a) foretell

b) misspell

c¢) abnormal

d) co-educational

98. Find a word with a productive Romanic prefix:
a) afternoon

b) unpleasant

C) pre-teach

d) underestimate

99. Find a word with a Greek prefix:
a) post-school
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b) anti-racist
c) extraordinary
d) overrun

100. Which of the words is built with a prefix denoting negation:
a) undo

b) counter-strike

c) illogical

d) decentralize
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4 | xopomo 61 — 80 13-16

3 | yOOBIETBOPHTEILHO 41 -60 9-12

2 | HEYJIOBJICTBOPUTEIBHO 21—-40 5-8

1 Heob6xomnmo MOBTOPHOE 0-20 0-4

H3yYCHUE

4. Mertoanueckue MaTepHuaJibl, ONpeleJsONHe MNPOoUEAYPbl OLEHHBAHMS
pe3yJIbTATOB OCBOEHUS 00Pa30BaTeIbLHOM MPOTPaMMbI

N3ydenne auctuminHbl «JIEKCHKOJIOTHS» TMpenycMaTpuBaeT cieayronme GopMbl
TEKYIIEro KOHTP OJIsl ¥ IIP OMEKYTOUHOM aTTECTallUM . PK3aMeH (7 cemecTp)

DK3aMeH COCTOUT U3 ABYX YaCTEH: yCTHON TEOP €TUUECKOM (CTY IE€HT IEMOHCTPUPYET
3HAHUE TEOPETUYECKOTr0 MaTepuaja IO JUCUUIUIMHE) WM IMPaKTUYECKON 4YacTH
(CTYIeHT 1EMOHCTpUPYET BilaJieHHUE P UEMaMU aHAIN3a A3bIKOBbIX €AMHHII).
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['ocynapcTBeHHOE 00Pa30BATENBHOE YUPEKICHUE BBICIETO 00p a30BaHMs
MOCKOBCKUNTOCYAAPCTBEHHbBIM OBJIACTHOM YHUBEPCUTET
MIroy)

NHCTUTYT TUHTBUCTUKU U MEXKYJIBTYPHON KOMMY HUKAITUH
DaKyJIbTET PpOMAHO-TEPMAHCKHUX SI3bIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHCKOTO SI3bIKA

Ilepeuens npuMepHBIX TeM pedepaToB Mo JUCHUIINHE «JIekcnKkoa0TH

OunenuBaembie komnerennuu: YK-4; CIIK-1
Ypogenn: [Toporoseii/ [Ip oaBuHY THIH

1. CnoBocnoxeHue: 3aKOHOMEPHOCTH  COYETAEMOCTH OCHOB B CIOBOCIOKEHUU;
2. AGOpeBranys B COBp EMEHHOM aHTIIMMCKOM SI3BIKE;

3. AKp OHUMBI B COBp EMEHHOM aHTJIMIICKOM SI3BIKE;

4. KonBepcusa Kak cnoco0 ciioBo0Opa30BaHUs B COBP EMEHHOM aHIJIMIICKOM SI3BIKE;
5.IlondaTE accUMUISAIMKA 3aWMCTBOBAHMM W METOJMKA €€ UCCIEIOBAaHUS,

6. Jlep MBalIMOHHBI MOTEHIMAJ 3aUMCTBOBAHHBIX CJIOB;

7. OcCoOEHHOCTH BIHSHHUS aMEpHUKAaHCKOTO BapHaHTa AHTJIUHUCKOTO S3bIKa Ha
Op UTAHCKHUIA;

8. AMepuKaHCKHE 3aMMCTBOBAaHHA BO (pa3eojoTuH OpUTAHCKOTO BapHaHTA
AHTJIMHCKOTO S3BIKA;

9. CemaHTHUeCcKass CTPYKTypa HEOJOTH3MOB-CYIECTBUTEIbHBIX B OpUTAHCKOM M
aMep MKaHCKOM BapUaHTaX aHTJIMHACKOTO SI3bIKa;

10. Jlekcuko-rp ammaTrdeckas quddep eHIuaIms p a3sroBOpHOM p eur aMEPUKAHCKOT O
¥ OpUTAHCKOTO BAPUAHTOB aHTJTUICKOTO SI3BIKA;

11. Ponp 300HUMOB U arpoOHMMOB B (DOPMHUPOBAHUHU aBCTPaAJUMCKOTO BapHUaHTa
AHTJIMHACKOT O A3bIKa;

12. CnieHr Kak cpeACTBO BbIP &KEHUSI P UCTPACTHI COBP EMEHHOM MOJIOJEHKU;

13. ®pazeonornyeckasi CAHHOHUMUS B COBP EMEHHOM aHIJTUHMCKOM SI3BIKE;

14. ®pazeonornyeckasi aHTOHUMHSI B COBP EMEHHOM aHIJIMMCKOM SA3bIKE;
15.0cob6enHoctu  (ppa3eoqorud B aMEPUKAHCKOM M OpPUTAHCKOM BapHaHTax
AHTJIMKMCKOTO S13bIKA;

16. CuHXp OHHO-CONIOCTABUTEIbHBIN AHAJIU3 OCIOBUIL M IOTOBOPOK B AHTJIUMCKOM,
P YCCKOM, HEMEIIKOM M KUTAMCKOM SI3bIKaX B KyJIbTYPOJIOTHYECKOM aCIIEKTE;
17.Anrnuiickue (pas3eosoru3Mbl, COAEpKalIUEe B CBOEH CEMAHTHKE 3JIEMEHT
1[BETO0003HAYEHUS, U 0COOEHHOCTH UX TIEP €BOJ1a HA P YCCKUH SA3BIK;

18. ®dpaszeonorudeckne CIUHUIBI OMOIEHCKOTO TP OMCXOXKICHHS (Ha MaTep hajie
AHTJIUHACKOTO U PYCCKOTO SI3BIKOB);

19. ®pazeonoruyeckue MPO3BHUIA M KX MECTO B aHIJIMKCKOM (paszeosoruu;
20. KynbTypHO-HanmoHansHas cerrduka (Gp a3eoJ0ru4ecKuX eIMHHILL;

21. OcoOeHHOCTH COBP EMEHHOTO CIICHTa aHTTTUHACKOTO 513 bIKA;

22.Oco0OEeHHOCTH COBP EMEHHOTO CIIEHTa aMep MKAHCKOTO S13bIKa;
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23. Oco0eHHOCTH COBP EMEHHOTO CIIEHra KaHAJICKOTO A3bIKa;

24. OcoOEHHOCTH COBP EMEHHOTO CIICHTa aBCTP ATHICKOTO SI3bIKA;

25. Adopu3Mbl B COBp EMEHHOM aHTJIMICKOM S3BIKE;

26. ABTOp CckHe Ip eoOpazoBaHust (PP a3€0T0TUUESCKUX SIUHUII U UX CTUIIUCTUYECKOE
MCIOJIb30BaHME (OKKa3MOHAIU3MBbI);

27. MexnometHas ¢hpa3eoa0rusi aHTITHICKOTO S3bIKa;

28. AHruiiCcKUe 3aMMCTBOBAHMS B PYCCKOM SI3BIKE;

29.JIMHrBUCTUYECKUE U3MEHEHHSI B COBP EMEHHOM aHIJIUHCKOM SI3BIKE (HEOJIOTU3MBI);
30. OcHoBHBIE TIP 00JIEMBI CO3/IaHUS AIEKTPOHHBIX CII0BAPEH;

31. IIparmaTruyecKkre acCeKThl U3yUeHUs aHTTMHCKON THTEp HET-JIEKCHKH;

32. TenaeHiuu B 00pa30BaHUU CIICHTM3MOB U KOJIJIOKBHAIM3MOB;

33. Cunonumus ahopU3MOB U TOCIIOBHUIL B @aHTTUHUCKOM SI3BIKE;

34. CneHr kak OTpa)K€HUE KYJIbTYPHBIX OCOOEHHOCTEH OTIEIBbHOW S3BIKOBOM
I'p yHIbl;

35. COLMOJMHTBUCTUYECKHE ACIEKTHI 3JIEKTP OHHOW P €UH.

Pedepart — xpaTkas 3anuch uaen, COAEPKAIMUXCI B OJJHOM WIM HECKOJIBKUX
UCTOYHHUKAX, KOTOpasi Tpe0yEeT yMEHHUsI CONOCTaBISITh U aHATU3UPOBATH P a3J1MYHbBIE
Touku 3peHus. Pedepar mpencraBiser coboil oaHy u3 (QOpM HHTEpIIpE€TalUU
HCXOJIHOTO TEKCTa MM HECKOJBKUX MCTOYHUKOB, TOATOMY pedepar, B OTIIMUHE OT
KOHCIIEKTa, SIBJISICTCS HOBBIM, aBTOPCKUM TekcToM. HoBWM3HAa B JaHHOM ciydae
MOAp a3yMEBAET HOBOE U3J105KEHUE, CHCTEMATU3AIUI0 MaTep haJia, 0CO0YI0 aBTOPCKYIO
MO3WIIMIO TPHU COMOCTaBICHWH PAa3JIMUHBIX TO4YeK 3peHus. PedepupoBanue
npeanojgaraeT M3J0KEHHE KaKoro-mubo BOIMpoca Ha OCHOBE Kiaccudukaiuw,
000011IeHNs, aHAIM3a ¥ CHHTE3a OJTHOTO MJIX HECKOJIbKUX UCTOYHUKOB.

TpeOoBaHusA K HAaNMCaHUIO pedepaTa:

O6wvem pedepata — 10 — 12 crp. mewatHoro Tekcra. Pedepar momkeH
coJiepKaTh: 000CHOBAaHUE BRIOOPA TEMBI; YKa3aHUsI Ha ITP €IMET, 00BEKT N3ydaeMoun
TEMBI; 1Ie7Ib PaboOThl U 3aJa4y; U3JIOKEHHE MaTepuaja, PacKpbIBAIOIIEro IeNb U
3aJ1a4¥; BBIBO/IBL; TUTEPaATYpa.

Pe(])epaT OIICHUBAETCH, UCXO0AH U3 CJICAYIOIIUX KPUTCPHUECB.

Kpurepun ITokazatenu basnsl

1.HoBu3zHa - aKTyaJIbHOCTb ITPOOJIEMBI U 20% makcuManbHO 3 bayna
pedepupoBaHHOTO | TEMBI; MaKCHMAaJIbHO
TEKCTa - HOBU3HA U CaMOCTOSITEIBHOCTD B

MIOCTaHOBKE MPOOJIEMBI, B
(hopMynHpPOBaHUH HOBOT'O
acrieKTa BHIOpaHHOM [Tl aHAIH3a
poOJIEMBI;

- HAJIMYKE aBTOPCKOM IMO3HIUH,
CaMOCTOSITEJIBHOCTh CYXKJICHHUH.

2. Cteneun - COOTBETCTBHE IIJIaHA TEME 20% MaKkCHUMaJILHO 3 Oayuta
PACKPBITHS pedepara; MaKCUMAaJIBLHO
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CYIIHOCTH
po0IeMbI

- COOTBETCTBHUE COJICPKAHUSI TEME
U TIIa"y pedepara;

- IOJIHOTA U TIIyOMHA PACKPBITHS
OCHOBHBIX ITOHSATHH TTPOOIIEMBI;

- 000CHOBaHHOCTH CTIOCOO0B U
METOJ/IOB pabOTHI C MAaTEPHUAIIOM;

- yMeHHue paboTath C
JTUTEPATYPOH, CACTEMATU3HPOBATH
U CTPYKTYPHPOBAThH MaTepHa,

- yMeH#e 00001aTh,
COIIOCTABIISITh PA3IMYHBIC TOYKU
3pEeHHUsI IO pacCMaTPUBAEMOMY
BOIIPOCY, apTyMEHTHPOBATH
OCHOBHBIC ITOJIOKEHUSI U BEIBOJIBI.

3. O00OCHOBAaHHOCTb
BBIOOPA MCTOYHHUKOB

- KpyT, IOJTHOTA MCIIOJIb30BAHUS
JUTEPATyPHBIX UCTOYHUKOB 110
npoOieme;

- IpUBJICYCHHE HOBEUIINX padoT
1o npobyeme ()KypHalabHbIE
nyOIMKaIuy, MaTepralbl
COOPHHMKOB Hay4HBIX TPYJOB U
T.J.).

20% MaKkCUMaJILHO

3 Oaiuia
MaKCUMAIBHO

4. Cobmronenue
TpeOOBaHU K
ohopMIICHUIO

- MpaBUJIBLHOE 0OpPMIICHUE
CCBUIOK Ha UCIOJIB3yEMYIO
JUTEpaTypy;

- TPaMOTHOCTD U KYJIbTypa
U3JI0KEHHUS;

- BJAJICHUE TEPMUHOJIOTHEN 1
MOHATHUHHBIM anapaToM
pOoOJIEMBIL;

- cobOmoieHre TpeOoBaHMM K
o0Bvemy pedepara;

- KyJIbTypa oopMIIeHuS:
BBIEIIeHE a03a1eB.

20% MaKkCHUMaJILHO

3 Oayuta
MaKCUMAIBEHO

5. I'pamoTHOCTB

- 0OTCYTCTBUE OpdorpadpruecKux u
CHUHTaKCHYECKUX OIINOOK,
CTHJIMCTHYECKHX IMOTPEIIHOCTEH;
- OTCYTCTBHUE OIEYATOK,
COKpAILIEHUH CJIOB, KPOME
OOIIETIPUHSTHIX;

- HAYYHBIA CTHJIb M3JI0KEHHUSL.

20% MaxCUMaJILHO

3 Oaiuta
MaKCUMAIBLHO

52




['ocynapcTBeHHOE 00Pa30BATENBHOE YUPEKICHUE BBICIETO 00p a30BaHMs
MOCKOBCKUNTOCYAAPCTBEHHbBIM OBJIACTHOM YHUBEPCUTET
MIroy)

NHCTUTYT TUHTBUCTUKU U MEXKYJIBTYPHON KOMMY HUKAITUH
DaKyJIbTET PpOMAHO-TEPMAHCKHUX SI3bIKOB
Kadenpa reopuu u ip akTHKH aHTJIMHACKOTO SI3bIKA

IlepeyeHb MpUMEPHBIX BOMPOCOB K IK3aMeHY MO JUCHHUTUINHE «JIeKCHKO0I0THsI»
OneHuBaeMble KOMIETEHIINH:
Ypogenn: [Toporoseii/ [Ip oaBuHY THIH

1. Lexicology as a branch of linguistics. Types of lexicology. The connection of
lexicology with other branches of linguistics.

2. Language units.

3. The word and its properties.

4. The problem of linguistic meaning. Types of linguistic meaning.

5. Aspects of lexical meaning.

6. The problemof synonymy. Classification of synonyms.

7. Antonymy. Types of antonyms.

8. Polysemyandhomonymy. The structure of a polysemantic word.

9. Classification of homonyms. Sources of homonymy.

10. Development of lexical meaning. Causesand types of semantic changes.

11. Metaphor and metonymy as mechanism of creating new meaning.

12. Secondary ways of semantic changes: elevation, degradation, hyperbole, litotes.
13. The etymological composition of the English lexicon. Native and borrowed
words in English. Characteristics of native words.

14. Borrowings and their classifications. Linguistic and extra-linguistic causes of
borrowings. The source language and the language of origin.

15. French borrowings.

16. German and Scandinavian borrowings.

17. Latin, Italian and Spanish borrowings.

18. Etymological doublets, international words, false friends of the interpreter.

19. Morphemic structure of the word. Types of morphemes. Allomorphs.

20. Morphemic level of analysis of word structure. The IC and the UC analysis.
21. Primary and secondaryways of word formation.

22. Affixation.

23. Conversion.

24. Compounding.

25. Criteria ofidentifying a compound. Nominative binominals.

26. Secondary ways of word formation: shortening, acronymy, back formation,
blending, sound interchange, sound imitation, stress interchange.
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27. Phraseological units: the definition and characteristic features. Classifications of
phraseological units.

28. Semantic classification of phraseological units.

29. Structural classification of phraseological units.

30. Syntactical classification of phraseological units.

31. Archaic words and neologisms.

32. Variantvs Dialect. Main variants of Modern English. English in different parts of
the world.

33. American English vs British English: differences in the vocabulary, grammar
and pronunciation.

34. Lexicography. The main types of dictionaries.

HpI/IMepbl 3alaHuM 115 HpaKTH‘leCKOﬁ YacTH 3K3aMcEHa

Ne 1.

Analyzethe underlined items.

1. | mustresistthose who punish me unjustly.

2. Heuppedandawayedto London.

3. Bytheway, thatyoungJohn Forsyteis over here... boy-and-girl affair, but |
thoughtyou oughtto know.

4. | was miserablewhen | thoughtyou would not come. I am almost too happy
now.

5. Atschool I always found algebraa very hard nut to crack.

Ne 2.

Analyze the underlined items.

1. He was penniless, but in due course found enough work as ateacher of Greek

to keep body and soul together.

2. Mabel began to find out what a mean old rogue he is.

3. What | mean is that he strikes me as a man who has gone to the bottom of
things.

4. Soames wanted to alter his condition from that ofan unmarried man to that of
the married man remarried.

5. Undoubtedly philosophersareright when they tell us that nothing is great or
little.

Ne 3.

Analyze the underlined items.

1. Frisco upped and clouted him over the jaw.

2. At the offices on Lower Broadway, he asked to see the manager, whom he
found to be a large, gross-featured, heavy-bodied man of fifty, grey-haired,
grey-eyed with short, fat-fingered hands.

3. He was always eager to welcome and unwilling to lose his friends.

54



4. “For Christ sake, keep your passage clear”, had been his exact words. He
wasn’t going to Kick the bucket before his time and go straight to Hell.
5. Here they found tea laid out for them.

Kpurepuu oieHKM 0TBETOB CTY/I€HTOB HA JK3aMeHe

Ounenka XapakTepucTuka KoauuectBo
0aJ1J10B
OTJIMYHO OTMeTKa «OTJIMYHO» BBICTABIIAETCS, €CJIA CTYICHT: 81- 12-15

e OOHapyMBaeT INTyOOKOE TOHMMaHHe Teoperuueckux Borpocos | 100
Y IIPAKTUYECKOT'O  BOIPOCA;

® YMCECT BHACTH MCKIUCHUIIIIMHAPHBIC CBA3HW IMPCIMCTOB,
PO IEHHBIX B MpoIlecce 00y4yeHus B OakagaBpHuare;

®  BIAJCET OCHOBHOW TEPMHHOJIOTUUECKON 0a30i;

®  yYMEET JIOTMYHO BBICTPOUTH CBOI OTBET;

® IAracT CyTb BOIPOCOB IPAMOTHO C TOYKHM 3pEHHS SI3bIKOBOM
HOpPMBI U METASBhIKA HAYKU;

®  YMEET BECTU IOJIEMUKY C 3K3aMEHAaTOpaMH, OTCTanuBasl CBOE
MHCHHUC I10 JIPICKyCCHOHHOfI TEMCE.

Xopouio O11eHKa «XOPOLI0» CTABUTCS, €CJIU CTYICHT: 61-80 | 8-11

e  OOHapyXMBacT JIOCTaTOYHO TITyOOKOe TTOHUMAaHHE
TEOPETUYCCKUX BOIPOCOB M MPAKTUYECKOrO  BOIPOCA, HO
3aTPYIHSETCS B MPUBEICHHUN PUMEPOB;

® yMeeT BHUJCTh MEKIUCIHIUIMHAPHBIC CBS3U IPEIMETOB,
MPOIIEHHBIX B MpoIlecce 00yUYeHUs B OaKanaBpuare;

e B IIJIOM BIAIET TEPMUHOJIOTHYECKOM 0a30M, HO JIOITyCKaeT
OT/ICNIBHBIE HETOUHOCTH;

®  HEIOCTATOYHO YETKO CTPYKTYPUPYET OTBET;

® pIaracT CyTh BOMPOCOB JIOCTATOYHO I'PAMOTHO C TOYKH 3PCHUS
SBBIKOBOM HOPMBI M METasBbIKa HayKH (He Oornee 2-3 ommooK);

e B IEIOM MpPAaBWIGHO OTBEYAaCT HA  BOINPOCHL, HO HE OYCHb
YCIIEIHO BENeT MOJEMHUKY C SK3aMEHATOpaMH, OTCTauBas
CBOE MHEHHE 110 TUCKYCCHOHHOU TeME.

yaoBJieTBo | OLIEHKA «y10BJIETBOPUTEIbHO)» CTABUTCS, €CJIA CTYACHT: 41-60 | 4-7

PpHUTEIbHO ® TIOKa3bIBaeT IOHMMAaHHWE TEOPETHYECKHX BOIPOCOB U
NPAaKTHYECKOTO BOMPOCAa, HO pacKpbIBAaeT MaTepuall
HEMOJIHO, 3aTPYyIHSETCS MPUBOAUTH TPHMEPHI;

® He BCerja BUAUT MEXAUCLUUILIMHAPHBIE CBSI3H MPEAMETOB,
MPOMJICHHBIX B ITpOIIecce 0OyUeHHs B OaKalaBpHaTe;
JIOMYCKAaeT HETOYHOCTH B ONPEICTICHUH MOHATUH;
U3JIaraeT MaTepuai HEYeTKO U HETOCIeI0BATENBHO;

® JIONyCKaeT OMMOKH C TOYKU 3pPEHHUS S3bIKOBOM HOPMBI U
MeTas3plka Hayku (Oojee 4-5 ommOOK B TOM dHCIE
BEAYIINX K HCKQKEHUIO CMbICIIA BHICKA3bIBAHUA);

® UCIBITHIBACT CEphE3HbIC 3aTPyAHEHUS IPH OTBETE Ha
BOIIPOCHI K3aMEHATOPA.

HeyaoBJeT | OleHKa «HeyA0BJIeTBOPUTEIbLHO» CTABUTCS, €CITU CTYICHT: 0-40 0-3
BOPHUTEJIbH e JIEMOHCTPHUPYET Pa3po3HEHHBIC OSCCHCTEMHBIEC 3HAHHUS,
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J0NycKaeT IpyOble OIMOKHU B OIPEeICHUN TOHATUH;
u3jlaraeT MaTepuai HEyBEpEeHHO U HEUETKO;

JIONyCcKaeT rpyOble W/HJIM MHOT'OYHCIIEHHBIE OIIMOKH B
YCTHOH pedd, Beayllue K HCKOKEHUIO CMbICIa
BBICKa3bIBaHUS;

HE MOXET OTBETUTbh NPAKTHMUYECKHM HM Ha OJUH BOIIPOC
9K3aMeHaTopa.
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